Case Study 1: How to ensure yellow “input”cells are available in payroll planning
Overview:-
In order to be able to see the yellow input cells in the BFT there are several aspects which must be checked.

Ownership — green tick must be visible

Context must show the current open forecasting “version” and “financial year”
The planner must have navigated to the lowest (leaf) cost centre level

Change the default of paycost type context box to salary cost
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The screen must be clicked out to a cost code combination (lighter grey entry showing employee ID, cost centres, natural account etc) not summary

of employee (bold entry showing name).

6. Clicked out to detailed payroll element (lighter grey description such as NR provision) not summary of payroll elements (total recurrent or non
recurrent)

7. The default is for zero suppressed; to open up a hitherto unused pay element, take off the zero suppression.

8. Forrecurrent pay elements the “profile” column will need to have manual profile selected

9. Input will be possible only in the projected months. All actual months are closed (except for journal entries via another application).

10. Input to affect salary and additional salary is via changing FTE and Grade —using respectively the FTE tab and Employee other details tab.

11. Employers NI and Employer’s pension contribution will always be calculated, so no direct input is possible (but see Case Study 9 How to change

pension details)

O Locked
12. If the cost centre is locked no input will be possible.

An example of context selection for input to payroll planning application

Rows: Columns: Context:
Employee ID Split :  Pay Element :  Month Payroll . Gross Pay . Q2 Forecast : 2016-17 . CDO000 History Faculty - Main &fc
[Employes ID Split] = [Pay Element] ™ % [Manth Payroll] | % [Pay Cost Typas] il [Version] = K [Financial Years] Tk [Cost Centre] =



7.The default is zeros .
2.Current forecast exercise, correct year

suppressed

4. change default “payroll

cost” to “Gross pav 3. lowest (leaf) level cost centre

[ iPayroll Main Planning View EIADD New Employee.xlsx Elﬂew Cost Coding Combination.xlsx E VIRE Payroll xlsx iPayroll iPayroll Other Employee Detzil |§| Payroll Updates.xisx || [ oPayroll Ledger ary
Rows: Columns: = =
Employee ID Sp_lit - Pay Element - J Month Payrall = Jﬁm(}ross Pay - h Q2 Fargcast o 201_&17 i d CD0000 History Faculty - Main A/c L
[Employee ID Split] [Pay Element] [Month Payroll] [Pay Cost Types] [Version] [Financial Years] [Cost Centre]
‘ Actual | FTE Plan LastMon'd'lAmJaICDst‘ Profile El'latziP{Budget‘EYear'l'{]TAL‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘E
Aug Sep ot Nov Dec Jan Feb Mar Apr May Jun Jul
1= Recurrent 1.0 1.0 1,820 21,821 21,784 1,800 1,800 1,800 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820
SALARY 1.0 1.0 1,820 21,821 21,784 1,800 1,800 1,800 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820
N ame = Non Recurrent 0.0 0.0 (1] (1] 59 0 0 (1] 59 (1] (1] 0 0 0 0 L1} 1]
BASIC PAY ARREARS 0.0 0.0 1] 1] 59 (1] 0 0 59 0 1] (1] 0 0 0 (1] 1]
1=l Total of Pay Element 1.0 1.0 1,820 21,821 21,843 1,800 1,800 1,800 1,880 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820
= Recurrent 1.0 1.0 1,820 21,821 21,784 1,800 1,800 1,800 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820
2007628-CD0000-50200-00( SALARY 1.0 1.0 1,820 21,821 21,784 1,800 1,800 1,800 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820 1,820
i 1= Non Recurrent 0.0 0.0 0 0 59 (1] 0 0 59 0 1] (1] [i] 0 i) (1] o
I BASIC PAY ARREARS 0.0 0.0 (1] 0 59 (1] 0 o 39 0 (1] o 1] 0 0 0 0

5. Cost code combination 10. Salary is changed in FTE

6. Detailed payroll element level

level and Grade tabs, not here




